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QUESTION 1

Based on the command "dump database pubs2 to pubs2.dmp with compression = 6", whichcommands could be used to
load it? (Choose 2)

A. load database pubs2 from"pubs2.dmp" withcompression = 6

B. load database pubs2 from"compress::6::pubs2.dmp" C. load database pubs2 from"pubs2.dmp" withcompression
level 6

C. load database pubs2 from "pubs2.dmp" E. load database pubs2 from "pubs2.dmp" withcompression

Correct Answer: A

QUESTION 2

What is the maximum database size allowed?
A. 2GB

B. 32GB

C.4TB

D. 8TB

E. 16TB

F.32TB

Correct Answer: C

QUESTION 3

What is the maximum system device size which ASE 15.0 can support?
A.1TB

B.2TB

C.47TB

D.6TB

Correct Answer: C

QUESTION 4

A table, column and index name can be bytes long?
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A. 32
B. 64
C.128
D. 255

Correct Answer: D

QUESTION 5

Which of the following may lead to increased deadlocks? (Choose 2)
A. Converting tables todatarows locking

B. Accessing tables in a different order in different programs

C. Decreasing the memory allocated to the procedure cache

D. Using isolation level 3

E. Configuring large 1/0O buffer pools

Correct Answer: BD
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